2. Solve any thre
3. Assume suitab
4. Figures to the

Answer the following -
Explain why open loop confi

Which type of feedback is y

Supply voltage = + /- W R
- Draw the circuit dig ram and expla
#pplications. SR

06
=1KandR f= 100K. 04

ut offset voltage Viog,

07
Wit shortnqt ":s‘f"jéﬁ_it\hg;fﬁzllowing (any four). 20
- -a) P;‘acﬁcal:‘det'giinination of OPAM P parameters
~ b) Full Wave precision rectifier.

) VCOIC 566,
- d) Switching voltage regulator
- ) Logarithmic amplifier.
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2 1) Question number 1 js compulsory.
2) Attempt any three

questions from the remaining"ﬁ': Ve questions.
3) Assume suitable 4

ata wherever necessary.
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Paper / Subject Code: 30704 / SIGNALS & SYSTEMS

(ii) Determine h(t) for each of the following cases :
1. The system is stable.
2. The system is causal.
3. The system is neither stable nor causal.

Q4 (a) Using Laplace transform determine the complete response of the system described by

the equation , . (10)
d?y() | < dy(t) = &
ar toTar Y=

y(0) = 0; dy(t)/dt | =0 =1, for the input x(t) = e u(t)..
(b) Determine the Fourier transform of the given continﬁous timé domain signal given by
x(t) = e* cosQo u(t) SO S )
(c ) Define ESD and PSD .What is the relétion of ESD and PSD wiﬂl autocorrelation ? (5)

Q5 (a) Determine the Fourier series of the given signal: - o (10)

x(t)

-T

(b) Prov_e time shiftihg propertykof Z transform. ' . . (5)
(c) Dete.rmine'the impulse response for the cascade of two LTI systems having impulse

rcsﬁonses hi(n) = (1/2)" u(n) and h(n) =(1/4)" u(n) . %)

Q6(a) C'orﬁpu_te the\Fo"mier transform and sketch the magnitude and phase function of causal

séquenc;_e given. by :x(n)=1/3;0<n<2" - (10)
: = 0; else
(B) State and prove Initial and final value. theorem. Determine the initial and final (10)
10 (2543)

values of x(t) if its Laplace transform is given by : X(s) = S 425e5)

sk 3 o 36 ke e ok e o ok ok ok ok oK ok ok ok 3k o ok ok e s ok ok o koK Ok
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Q P Code' 37492
Time : 3 Hrs Total Marks 80

ions:

' I} Question number 1 is compulsory. 2,5
2) Answer any three questions from remaining questnon
3) Assume Suitable data if required but justify the same.

Answer any four questions &

1) With neat block diagram explain Dlgltal Commumcation System

2) Differentiate between MSK and Of'fset QPSK :

3) State and Explain Shannon’s theorem for channel capacnty _

4) Explain the terms code redundancv, code rate code eff' cuency and Hammmg Bound

5) Differentiate between Frequencv hopped spread spectrum(FHSS) and Direct sequence
spread spectrum. : :

1) Explain with neat dlagram transmitter Recewer waveforms, the BPSK modulatlon
Bt .. . S | ; . .

2) A dlscrete memoryless channel has an alphabets of ﬁve symbols with the probabilities as

As glven below . :

CROS S I G S
055 [015_ [o15 o1  [o05

Construct the Huffman code and find entrepy and average code word length of the code.
Also c_alt;ulete code redun_d‘ancy'a'nd efﬁcuency of the code.
1)A(7,4) [ineat block code Rad foiiowing_generator matrix
< 6= 110 1000
0 1:1:,°0100
1 1 1 0010
& -1. 01 0001

) Write parity check matrix
ii) Generate all the code word
iii) ~ Generate the decoding table for the single error pattern.

2) Explaln DPSK system with respect to transmitter. Receiver

Page1of2
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Paper / Subject Code: 30705 / DIGITAL COMMUNICATION

Q P. Code: 37492
1 Q4. 1) Explain with neat diagram the working of Integrate and Dump recetver Deﬂvethe

I expression for probability of error. S =
I 2) Explain with neat diagram frequency hopping spread spedfﬁm, :FH.-MFSK'and _‘e)'tplé.in slow
i hopping and fast hopping. < 7 VS
Qs. 1) What is Eye pattern. Explain the parameters obsgwg’ii;ﬁrorﬁ Itwnth an'i_llusirétion._ '
2) Draw signal space diagram for 16 QAM system -anckcor'npa'.'ré_'i)r‘ou__ba‘nblﬂty of ecé;frencéﬁf
error in it with QPSK system. :
Q6.  Write short notes on followings(any two)

1) Nyquist criteria for distortion less baseband transmission ~ .‘-‘, ;
2) Convolution codes g S
3) Direct sequence code division multlple array(DS~CDMA}

4) Probability Models

R e L
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